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24 VDC 0.7 A

35 VDC 0.5A (M12/8—<33>)
110 VDC 0.2 A

220 VDC 0.1A
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12 V AC/DC
7 mA

250 VAC
250V
240V@3A
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1500 VAC, 50 Hz 14/ 51 7¥#F & 25> KM

2, EN IEC 60947-1(Z ZE#1L

5A

(A T58EF, 2.8 x 0.5 mm
Eic)

FILRRA b

RFVTT IO RLYFUTIL AL B

5077 [El#4E

4 ~ 7N

#1 3 mm

0.5 ~ 0.6 Nm

0.018 kg
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IPRE R F4R: IP65, IP67
FERIRE: -30°C ~ +70°C
RIFIRE: -40°C...+80°C
Tt 17 B &K 500 m / s2 IEC 60068-2-27 (2%l
TR Btk 10 ~ 500 Hz, #RIE 1.5 mm p-p (IEC 60068-2-6 (ZZ%EHL)
NS B#h, 21AM (IEC 60512-11(Z4EHL
FRALE
AL CB, CCC, C UL, UL
ZEHL: CE, 2011/ 65 / EC (RoHS), 2014 / 35 / EU (LVD)
REACH: REACH compliant
RoHS: RoHS compliant
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